Assignment 2 - Follow up

Q3: What is the mixing ratio of 250 pg/ms3 of acrolein (MW = 56.1 g mol-1) in ppby at 17°C
and 1.0 atm?
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Q6: Write an expression for the residence time (t) of OH in the troposphere, if the
following reactions represent the dominant loss processes.

OH + CO - H + CO, keo
OH + CHy, - H0 + CHsz kena
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Q7: What is the rate expression for the production of OH from the reaction below?

O(ID) + Hz0 > 20H ks
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Q8: Whatis the total mass of CFC-12 (MW = 121 g mol?) in Earth’s atmosphere if
global average concentration is given by 400 ppt,?
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